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high grade rag stock
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The paper in this book No. 373A
with a WATER RESISTING surface sizing.
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TRIGONOMETRIC FORMULAE
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Solution of Right Triangles
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REDUCTION TO HORIZONTAL

Horizontal distance=Slope distance multiplied by the
cosine of the vertical angle. Thus: slope distance =319, 4 ft.
Vert. angle=5° 10/. From Table, Page IX. cos 5° 10/=
.9959. Horizontal distance=819.4.9959=318.09 ft.
Horizontal distance also= Slope distance minus slope
distance times (1—cosine of vertical angle) With the
same fig1|t1res gs %n Eih% precedionlg/ exgggé)lle, tgg%sfol})grl'-
i i ing result is obtained. Cosine 5°10/=, ik =.| >
Hortontsl distangie. | ol ot 319.4—1.31=318.09 ft, :
When the rise is known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distance=302.s—21;*< >;0;46=302.6~0.32=302.28 ft.

Area area =
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